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a=5 b=-1
a==b—» ans=0
a—=b ——— ans=1
ab ——pans=0
a<=bh ——» ans= 0
ab — , ans=|
a==h — ans=1
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Bl ale 020 d> a5 8 1.5 peewai a5 O3l 0 0B 1) delipif jgzus—if ... (else .. .) end
Jle 63,5 1 >
X = input(' x = ");
if x >=0
y=X"2
end
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Jle S ool else j5mws 3l auly o izon Lol
X = input(' = = ");
if x >=0
y=x"2
else
y=—xX"2
end
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Max=B Max=C Max=A
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cle

clear

format short g
a=input(‘a=");

if mod(a,2)==0
disp('zoj')

end

if mod(a,2)~=0
disp('fard")

end
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cle

clear

format short g
a=input('a=");
b=input('b=");
c=input('c=");
d=b"2-4*a*c;

if d<0

disp('risheh nadarad')
end

if d=0

D=d*0.5;
x1=(-1*b+D)/(2%a);
x2=(-1*b-D)/(2*a);

x=[x1 x2];

disp[' EE Kl ek e et KZ $$==H']
disp(x)

end
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cle

clear

format short g
a=input('a=");

b=input('b=");

c=input('c=");
s=a+b+c;

if s==180

disp(’ mosalas")
end

if s~=180
disp('no mosalas’)
end
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cle

clear

format short g
a=input('a=");
if a=0
disp('+)

end

if a<0
disp('-")

end
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cle
clear
format short g
pass=input('pass key=");
il pass==Rastgou
a=input('a=");
=input('b=");
c=input('c=");
s=at+h+c;
if s==180
disp(' mosalas")
end
if s~=180
disp('no mosalas")

end
end



